Multiplication de Deux Trinomes (F)

Simplifiez chaque expression.

1. (9¢’ 4 3¢* — 26%)(—9¢” — Tc* — 8¢°)

2. (—2b% — 9b — 4)(—3b* 4+ 20+ 9)

3. (—=8n” + 3n* 4 3n°)(5n* — 9n +9)

| (8s% — bs — 7)(—2s> — 7s* + 3s)

(6w — 5w — w?)(—8w* — 6w — w?)

Ot

6. (4t> — 9t* + 4t)(—61° + 9t* — 8t)

-3

(827 4+ 92 — 5)(92° 4 22* — 22%)

8. (4t* — 213 — 3t%)(3t* — 2t + 7)

9. (—6p® — 5p* — 2p)(=5p* — 9 — 3p?)

10. (6p” — 8p* + 9p)(—3p” +p — 2)
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Multiplication de Deux Trinomes (F) Réponses

Simplifiez chaque expression.

(9¢° + 3¢ — 26%)(—9¢” — Tt — 8¢P)
= —81c'% — 90¢” — 75¢% — 10¢” + 166°

—_

[\]

(=20 — 9b — 4)(=3b* + 20+ 9)
— 6b* + 230° — 24b*> — 89b — 36

3. (=8n” + 3n* 4 3n°)(5n* — 9n +9)
— —40n" + 87n% — 84n° + 27n3

- (85% — 55 — T7)(—2s® — 7s* + 3s)
= —165° — 465" + 73s° + 345> — 21s

(@

(—6w* — 5w — w?)(=8w* — 6w’ — w?)
= 48uw® + 76w" + 44w’ + 11w° + w*

6. (4t> — 9t* + 4t)(—61° + 9t* — 8t)
— — 2415 + 90#° — 137t* + 108> — 32¢2

~I

(822 + 92 — 5)(92° + 22* — 227%)
= 7227+ 9720 — 432° — 282* + 1028

(4t — 263 = 332 — 2t + 7)
= 1269 — 144 + 23t* — 83 — 212

09

(=6p® — 5p” — 2p)(=5p* — 9p* — 3p?)
= 30p" + 79p° + 73p° + 33p* + 6p?

o)

10. (6p° — 8p* + 9p) (—=3p° +p — 2)
= —18p° + 30p* — 47p® + 25p* — 18p
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